
×y.O�Ï×.� ^£�Ù� ?�×

��^�C` �100O10`26^10:10–12:00 >/�?Z*

Ï1Þ105, Ï2-7Þ&155, �b�M»6!î�

1. 'Ω = {1, 2, 3, 4}, �áΩî×σ-��bËÍ-ô{1}C{1, 2}�(i)�¶�t�Ý9
Ëσ-�F ; (ii)3Fî�L×^£ÐóP , ��P ({1}) = 0.2, P ({1, 2}) = 0.3�

2. 7V12ÑÝ{�1g, �X�Xÿ�Fót|4�õó��O(i)X�^£Û�Ð
óf ; (ii)E(X); (iii)Var(X)�

3. '�^�óX�^£Û�Ðó


f(x) =





x− 1 , 1 ≤ x < 2,

3− x , 2 ≤ x < 3,

0 ,Í��

�O(i)X�5µÐóF (x), x ∈ R (105); (ii)P (X ≤ 5/2) (55)�

4. �X�ðóc, ¸ì�fW
×^£Û�Ðó�

f(x) =





0 , x ≤ −1,

−cx3 ,−1 < x ≤ 0,

ce−6x , x > 0�

5. 'XbU(0, 1)5µ, �Y = log X
1−X��O(i)Y�^£Û�Ðóf(x), x ∈ R;

(ii)Y�5µÐóF (x), x ∈ R; (iii)P (Y < 0)�

6. A�ß�®Æ8, Ng®¥1-, ui�J��36-(æ¼Ý1-�
)º½), uí
J´�1-��ái�Ý^£
1/38�®100g, �X�Î�gó����(i)X�

5µ (55); (ii)�Xÿ
Ñ�^£ (105)�

7. Ng7VËÍ2ÑÝY�, àÕ!`�¨ËÍÑ«��c��Y�À��7Vó,

�O(i)Y�^£Û�Ðó; (ii)Y�y5�^£; (iii)E(Y )�


